RY AR TIONS : (LANDSCAPE PROPOSAL WITH GREENERY AREA CALCULATIONS SEPARATELY SUBMITTED TO LANDS DEPARTMENT.)

NET AREA OF PODIUM GARDEN REQUIRED :

AREA OF THE FOOTPRINT OF THE TONER - 1267927
{(REFER 10, OWG N0 Uh-cooz)
PERCENTAGE OF NET ASEA FOR PODIUM GARDEN REQUIRED . s0%

il

@ (3575 X 7.375) + (1.050 X 0.%00) - 26.681
@ 3875 x 1550 - 6006
@ 3325 x 5675 - 18.869
€ (4125 + 5006) X BOOD /2 - (1000 X 1.400) = 35124
@ 19.100 X 14775 - 282203
@ (11625 x 7.825) - (0.650 X 4.900) = 87.781
& 30500 X 14375 - 43sals
& (1991 + 1.055) X 8500 /2 - 12946
@ 11850 X 7825 - 92726
@ (4625 x 8.125) - (0.100 X 2.750) +

(2250 X 0.200) + (0.100 X 1.025) = 378%
@ 1800 X 3255 + 1,650 X 0.500 - 6684
@ 4975 x 7825 = 38929
@ 470X 410 - 19505

TOTAL = 1104023 mt
= 1104023 / 1267.927 X 100% = B7.073 % > 5000 %
(REQUIRED)

@ ()o'l:xnso) + (4506 + om)x 13700 /2 =
X 1.400) = (1.000 X 1.000) = 73509

@ (0850 X 2.600) + (28400 X 3.700) +
(3.250 X 2.496) + (3.250 + 2.765) X 4.404 /2 +
(1.765 + 1.655) X 1.000 /2 + (1.600 X 5.700) -
(1,000 x 1.000) X 3 = 136477

R R A_UNDER TOWER FC
(>15XNE’WENMMRYOJN‘!Z)

= 209986 / 1267894 X 100% - 16562 %> 1500 %
(REQUIRED)
UNCOVERED GREENERY AREA CALCULATION :
U
B (2029 + 2706) x 6.150 /2 - 14.560
® 4075 x 3150 = 128%
® 42750 x 3000 - 128250
® 6800 x 1,750 = 11900
® (0700 x 5.700) - 3990
SUBTOTAL - 171536 m*
173
@ (6439 + 6.439) X 1,400 /2 +
048 + B.O4B) X 0.369 /2 +
(5709 + 5709) X 1.400 /2 +
(0864 + 1.034) X 1.550 /2 +
(0352 + 1.164) X 7.375 /2 - 2708

SUBTOTAL - 2703 m
TOTAL: 171536 + 27.0%9 - 198575 m'

PEDESTRIN ZONE GREENERY AREA :  [onoe]

2/F
@ (0950 X 5700) + (0.595 X 5.404) /2 7,023

IFOP so-L LMl, +20.10, MEAN STREET LEVEL 45 H

NAP APP~152)
SUBTOAL = 7023

G/
© (54194 + 54326) X 1.200 /2

+ (6,400 X 0.300) - (46.385 X 0.095) = 62628
@ (1105 x 13690) - (1,000 X 1.000) X 3 = 12127
@ (0636 + 0.307) X 8500 /2 = a0

SUBTOTAL = 78760 m
G/F VERTICAL GREEN

@ (ReFER 10 LA-E-02 ~ ELEVATION 2) = 47008
116586®  COVERED GREENERY AREA CALCULATION :
@  (REFIR 10 LA-£-03 ~ ELEVATION 4) - 108888 7 -
SUBTOTAL - 116,586 m @ 102&5 + 1.057) X 7.37%) /2 +
50.17‘ + 0.545) X 1550) /2 - 5513
- ms \oo X zax X 3% - 116586 m' @ (8048 + 1.031) = 8207

TOAL: 7.023 + 78.760 + 116,586 - 202369 m' TOTAL = 13810 m




